LAST NAME:_____________________ FIRST NAME:______________________ 

ALGEBRA  QUIZ MIXTURE 1  Show all your work to receive credit and circle or highlight your final answers.  ( 10 pts )
A wine company needs to blend a California wine with a 5% alcohol content and a French wine with a 9% alcohol content to obtain a mixture of 200 gallons of wine having a 7% alcohol content.  How many gallons of each wine must be used ?
# gallons of CA wine =   _________

# gallons of the French wine = _________

